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B.A. (Part-I) (Semester - IT) Examination, December - 2014

ECONOMICS (Optional) (New)
Indian Economy (Paper - II)
Sub. Code : 61245

Day and Datc : Saturday, 20 - 12 -2014 Total Marks : 50
Time : 12.00 noon to 2.00 p.m.
Instructions: 1)  All questions arc compulsory.

2)  Figuresto the right indicate full marks.

Q1) Complete the following sentences by choosing correct alternative : [10]
a) In 2013, Indian Government has passed bill to avail
foodgrain to the poor people.
1)  Work Guarantee i) Food sccurity
i) - Food for work™ iv) Nonc of these

b)

d)

Kisan Credit Card scheme is started for

1) Farmers i)  Traders

i) Businessman iv) None of these

Use of new technology to increase agricultural productivity is called as
revolution.

i)  White i) Blue

u) Green iv)  None of these

Rapid industrialization is necessary to solve problem of

India.

1)  Unemployment i)  Capital ?

i) Investment 1jv) Nonc of these /

In India, industry still use old and traditional t hniques for
production.

1) Largescale i) Forcign
i) Small scale and cottage iv) - None of these
LT.0.
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D The most important internal reason for industrial sickness 18
problem,
D Management i) Loan
)  Tax iv)  Nonce of these

2)  Central Government has established Life Insurance company in the year
v 2010 ) 1951
m 1956 iv)  Nonce of these

h)  21% century is know as age of -
) Industry 1) Information and technology
)  Green Revolution iv)  Nonc of these

) Indian Railway is the biggest business owned by
1) Government i)  Private sector @
i)  Co-operative sector iv)  None of these

Al

is a very good tool of communication.
1) Newspaper )  Book

)  Mobile phone v)  None of these

02) Answer the following questions in detail

[20]
)  Explainthe causes of Low Agricultural productivity in India.
OR
State the need of Industrialization.
b)  Explain the major features of Green Revolution in India.
OR ®
State the growing importance of service sector in India. i
(03) Write short notes (any four) : [20]
~.a)

Problems of small scale and cottage industry.
Industrial policy of 1991

c) %nportancc of Insurance
d) Drawbacks of Green Revolution
¢) Causes of Industrial sickness

) - lLmportance of Foreign sector.
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